Phys 102 Astronomy Name

Star Transit Times

Figure 1-3 in the Field Guide is a Graphic Timetable of the heavens giving the transit times
of the bright stars. Use it to find the following™
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= Blue (Hot) Stars = = Brightest Stars (-1.46 ... +0.12)
Yellow Stars = = Medium Bright Stars (+0.38 ... +0.85)
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. Fig. 1 -3 Graphic Timetable of the Brightest Stars, showing when the)
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The Speed of Noon at the Equator

Noon was defined as the transit time of Sun. As the Earth spins "beneath” the sun, the sun is directly
over different points on Earth through the day. Thus "noon” travels around the Earth at some speed. It
travels all the way around the Earth in one day. On the equinoxes it travels along the equator where
Earth's radius is 6.4 x 10°m, so calculate the speed of noon:*

These are for BLUO see the logic Calculgie this!
distance  27Rguror  27(6.4x10° m)
time 24 hours 24(60)(60)sec

V. =

noon at equator

w3

or, taking 12 =224 mph, the speed of noon along the equator is Vnoon at equator = _ mph

B. Terminator Speed in Canton

The terminator is the edge of the Earth's shadow on itself, that is, the edge of night or sunset and
sunrise. Sunrise and sunset occur when the terminator passes your position on Earth. Since we don't
stand at the equator, the distance traveled by the terminator that passes over SLU is smaller than the
distance traveled by the terminator at the equator. The rotational radius (the radius from the axis of
rotation) of the Earth at Canton is Requator X c0S(44.6°) since Canton is at a latitude of 44.6°. Hence the
velocity of the terminator (or noon) at Canton is less than that at the equator. Calculate the speed of the
terminator at Canton: *

This is for yow see the logic Calculja*g this!
2[Ry COS(44.6') | 27 (6.4x10°m)cos(44.6)] m
Hroon inanten = 24 hr T 2460)(60)sec s
Vnoon in Canton = mph<7 from m/s to mph
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